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4 (FH) Eifiha N\ (§%) Eifiha ) (&FD Eifiha
OE#i# HELF TS |BE (BE |[HEEH OE#i# HEEF [FHE |(GE |[BE [hEE OE#i# HEEF [FHE |(GE |[BE [hEE
FALTLR (FEHYED) 94 1.1 105 28.0%|26.6% FALTLR(FEHYEL) 35 0.3 38 19.8%|18.7% FALTLR (FEHYED) 129 1.4 143|  25.2%|23.9%
(3b765%8EH) 54 05 59 15.7% (3b765%8EH) 0.6 0 06 3.1% (3b765%8EH) 6 05 6.5 11.5%
FEYTLRITELILY 6.4 0 6.4 17.1% FEYVORITELELY 5.4 0 5.4 28.1% FEYFVDRITELELY 1.8 0 1.8 20.8%
FYFLY 3.1 0 31 8.3% FYFLY 22 0 22 11.5% FYFLY 5.3 0 53 9.3%
Bl 6.7 0.1 68/  18.1% Bl 25 02 27 14.1% Bl 92 03 95/  16.8%
REDMSMELN 48 0 48 12.8%) REHMSMELN 2.7 0 2.7 14.1%) REHMSMELN 75 0 75 13.2%
FEYRLIELAL 0.5 0.5 1.0 2.7%60.9% FEYRLIELALY 0.4 0 0.4 2.1%70.6% FEYRLIELAL 0.9 0.5 14 2.5%)64.3%
REE 44 05 49 13.1% REE 20 0 200 10.4% REE 6.4 05 69  12.2%
&t 35.3 22 375  100.0% &t 187 05 19.2  100.0% &%t 54 2.7 56.7|  100.0%
(5B5IELEH) 346 1.7 36.3 96.8% (5B5IELEH) 17.7 0 17.7 92.2% (555ELEH) 52.3 1.7 540 95.2%
(o) ik Tk ! MEET |FiE |&E |BE |HEE OmEm AL MEET |FER |&F |BIE |[HEES OmEm AL MEET [FiE |AE |BI& |HEL| XiABMARR (ha)
FALTLR (FEHYEL) 15.9 14.6 305 82.4%|80.3% FALTLR (FEHYEL) 1.0 1.5 25 27.5%|45.5% FALTLR(FEHYEL) 16.9 16.1 33 71.6%|76.8% N FHIEER 6.5
(3b765%8HEH) 8.8 0 838 23.8% (53b765%8HEH) 1.0 0 1.0 11.0% (3b765%8HEH) 9.8 0 9.8 21.3% [GESiiE:d 44
RE 39 26 65  17.6%[19.7% RE 12 5.4 66|  72.5%|54.5% RE 5.1 8 131 28.4%|23.2% EIEIn% 3
&t 198 172 370 |  100.0% &t 22 6.9 9.1 100.0% &t 22 24.1 46.1|  100.0% T5IUR(R) 2.7
(5B5IELEH) 19.7 6.6 26.3 71.1% (5B5IELEH) 1.0 0 1.0 11.0% (555IELEH) 20.7 6.6 273 59.2% BERE—HIVEH) 15.9
ZTOft (REHF) 04
Hi 329
OERAM+hAEME (raki |Fhd |45 |88 |hEEH ORAM+hAME (rakf |Fihd |G |B1&  |pEEH ORAM+hHAME (rakf |Fhd |G |B1&  |pEEH
FIALTLWA(FEHYED) 25.3 15.7 410]  55.0%45.9% FALTLS (FEHYED) 45 1.8 63|  22.3%[21.5% FALTLS (FEHYED) 29.8 175 473 46.0%|39.2%
(3b765%8HEH) 142 05 147 19.7% (3b765%8HEH) 1.6 0 1.6 5.7% (3b765%8HEH) 15.8 05 16.3 15.9%
FEYUFNRITELEL 6.4 0 6.4 8.6%) FEYFLORITELEL 5.4 0 5.4 19.1% FEYFLRITELEL 1.8 0 1.8 11.5%
YTl 3.1 0 31 4.2% YTl 22 0 22 7.8% YTl 5.3 0 53 5.2%
Bl 6.7 0.1 6.8 9.1% = (= 25 02 27 9.5% Bl 92 03 95 9.2%
REDHMSMEL 8.7 26 1.3 15.2%) REDMSMEL 3.9 54 9.3 32.9% REHMSMEL 126 8 20.6 20.0%
FEYRLIELAL 0.5 0.5 1.0 1.3%}46.1% FEYRLIELAL 0.4 0 0.4 1.4%]68.9% FEYRLIELAL 0.9 0.5 14 1.4%|52.4%
REE 44 05 49 6.6% REE 2 0 20 7.1% REE 6.4 05 69 6.7%
&t 55.1 194 745  100.0% &t 209 74 283  100.0% &t 76 26.8 102.8)  100.0%
\ (5B5IELEH) 54.3 8.3 62.6 84.0% / k (5B5IELEH) 18.7 0 18.7 66.1% ) (5B5IELEH) 73 8.3 81.3 79.1%




